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Out[4]: Python

Out[4]: Pythona
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Out [7]:[[3, 2, 1], [5, 4, 3], [6, 3, 1]]
In [8]: Ary_B.clear()

Out [7]:[[6, 3, 11, [5, 4, 3], [3, 2, 1]]
In [8]: Ary_B.clear()
print(Ary_B)
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Set_One.issuperset(Set_Two)

print(Set_One.issuperset(Set_Two))
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Dict_C3 = {'"Name': 'Jonathan', 'Age"

26, 'Investment': 1200.3}

Dict_C3 ={'Name': 'Bob', 'Age": 27,
'Investment': 2500.33}
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Bob
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FH A print @i Str_ A[3:5:-1]0F

FEF print fig Y Str_ A[5:3:-1]HF
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(A)pow(a, b) (B)round(a, b)
(C)divmod(a, b)

(A)a = pow(a, b) (B)a=round(a, b)
(C)a = divmod(a, b)
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